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	Direction:
	Select the alternative that best replaces the underlined portion of the sentence.


	01.
	All the allegations (Awf‡hvM) levelled against him were found to be baseless (wfwËnxb).

	(E)
	(A)
	level against (Kv‡iv wei“‡× Awf‡hvM Avbqb Kiv)

	
	(B)
	level with

	
	(C)
	levelling with

	
	(D)
	levelled for

	
	(E)
	No correction required

	
	
	

	02.
	All the students got high marks in the test but Rahim stood out.

	(D)
	(A)
	got a lot of marks

	
	(B)
	got very high marks

	
	(C)
	got higher marks than someone

	
	(D)
	got the most marks of all

	
	(E)
	none of the above

	
	
	

	03.
	Anand has the guts to rise form the occasion and come out successful.

	(C)
	(A)
	to rise against

	
	(B)
	in rising form

	
	(C)
	to rise to

	
	(D)
	to rise with

	
	(E)
	no correction required

	
	
	

	04.
	As there was no time, the remaining items were deferred (†g‡b †bqv) into the next meeting.

	(C)
	(A)
	are deferred till


	
	(B)
	were deferred till

	
	(C)
	were deferred to

	
	(D)
	had deferred with

	
	(E)
	No correction required

	
	
	

	05.
	Ashraf wanted to have gone to the movies yesterday.

	(C)
	(A)
	wants to go

	
	(B)
	had wanted to have gone

	
	(C)
	wanted to go

	
	(D)
	wanted to gone

	
	(E)
	none of  these

	
	
	

	06.
	Because of his broken hip, John has not and possibly never will be able to run the mile again.

	(B)
	(A)
	bas not and possibly never will be able to run

	
	(B)
	has not and possibly will never be able to run

	
	(C)
	bas not hem and possibly never would be able to run

	
	(D)
	has not and possibly never would be able to run

	
	(E)
	has not been able to run and possibly never will be able to run

	
	
	

	07.
	Because of his mastery in the field, his suggestions are wide accepted.

	(A)
	(A)
	are widely accepted

	
	(B)
	widely accepted

	
	(C)
	are wide accepted

	
	(D)
	no correction required

	
	
	

	08.
	Brinjals are dead cheap these days.

	(A)
	(A)
	deadly cheap

	
	(B)
	dirt cheap

	
	(C)
	dust cheap

	
	(D)
	no improvement

	
	
	

	09.
	Computer has revolutionized office procedures more than any machine of modern time.

	(C)
	(A)
	has any machine 

	
	(B)
	has any other machine 

	
	(C)
	any other machine 

	
	(D)
	any other machine has

	
	(E)
	none of  these

	
	
	

	10.
	Crossing the street, a car almost struck us.

	(C)
	(A)
	Crossing the street, a car almost struck us

	
	(B)
	A car almost struck us, crossing the street

	
	(C)
	As we crossed the street, a car almost struck us

	
	(D)
	A car almost struck us

	
	(E)
	A car almost struck us when crossing the street

	
	
	

	11.
	Delighted by the reported earnings for the first quarter of the fiscal year, it was decided by the company manager to give her staff a raise.

	(C)
	(A)
	it was decided by the company manager to give her a raise to her staff

	
	(B)
	the decision of the company manager was to give her staff a raise

	
	(C)
	the company manager decided to give her staff a raise

	
	(D)
	the stag was given a raise by the company manager

	
	(E)
	a raise was given to the staff by the company manager

	
	
	

	12.
	Except for you and I, everyone brought a present to the party.

	(C)
	(A)
	Except for you and I, everyone brought

	
	(B)
	With exception of you and I, everyone brought

	
	(C)
	Except for you and me, everyone brought

	
	(D)
	Except for you and me, everyone have brought

	
	(E)
	Except for you and me, everyone had brought

	
	
	

	13.
	Fame as well as fortune were his goals in life.

	(C)
	(A)
	Fame as well as fortune were his goals 

	
	(B)
	Fame as well as fortune was his goals 

	
	(C)
	Fame and fortune were his goals 

	
	(D)
	Fame as well as fortune were his goal 

	
	(E)
	Fame also fortune were his goals 

	
	
	

	14.
	For donors two step lending projects are easier to implement but they loss to much of their potential operational controls.

	(A)
	(A)
	they loss the much of their potential operational controls

	
	(B)
	they loose too much of their potential operational control

	
	(C)
	they loss much of their operational controls

	
	(D)
	they loss too much of their operational control

	
	(E)
	they loss too much operational control

	
	
	

	15.
	Had I been at the scene of the accident, I could have administered first aid to the victims.

	(B)
	(A)
	Had I been

	
	(B)
	If I were

	
	(C)
	If I was

	
	(D)
	I should been

	
	(E)
	Might I be

	
	
	

	16.
	Had I realized how close I was to failing, I would not have gone to the party.

	(E)
	(A)
	Had I realized how close

	
	(B)
	If I would have realized

	
	(C)
	Had I had realized how close

	
	(D)
	Had I realized how close

	
	(E)
	If I realized how close

	
	
	

	17.
	He interviewed several candidates who he thought had the experience and qualifications the position required.

	(A)
	(A)
	who he thought

	
	(B)
	whom he thought

	
	(C)
	of whom he thought 

	
	(D)
	he thought who

	
	(E)
	none of  these

	
	
	

	18.
	He is a good speaker. He always put his ideas very well.

	(E)
	(A)
	puts off ideas very well

	
	(B)
	putting out ideas very well

	
	(C)
	putting his ideas very well

	
	(D)
	puts over his ideas very well

	
	(E)
	none of  these

	
	
	

	19.
	He has sold his house and has no job and so now he has next to nothing.

	(D)
	(A)
	he is unemployed

	
	(B)
	he has no property

	
	(C)
	he has a few things

	
	(D)
	he has nothing at all

	
	(E)
	he has a small things

	
	
	

	20.
	He kept saying he did not do it but in the end he said he had done it.

	(D)
	(A)
	in any case

	
	(B)
	at least

	
	(C)
	by the end

	
	(D)
	finally

	
	(E)
	none

	
	
	

	21.
	He offered me tea but I denied it.

	(C)
	(A)
	refute

	
	(B)
	neglected

	
	(C)
	declined

	
	(D)
	no improvement

	
	
	

	22.
	He always had loyal supporters and they loved him.

	(D)
	(A)
	and they loved him

	
	(B)
	and they loving him

	
	(C)
	what loved him

	
	(D)
	who loved him

	
	(E)
	which loved him

	
	
	

	23.
	He is up to his ears in work and cannot possibly see you now.

	(B)
	(A)
	very interested in

	
	(B)
	fully occupied with

	
	(C)
	not involved with

	
	(D)
	concerned with

	
	(E)
	troubled with

	
	
	

	24.
	Her brother along with her parents insist that she remains in school.

	(B)
	(A)
	are insisting

	
	(B)
	insists

	
	(C)
	were insisting

	
	(D)
	have insisted

	
	(E)
	none of  these

	
	
	

	25.
	“He raised his eyebrow at my explanation” means

	(A)
	(A)
	show surprise or disapproval 

	
	(B)
	show agreement

	
	(C)
	show happiness

	
	(D)
	show indifference

	
	
	

	26.
	I am sorry, but I don’t believe what you say.

	(D)
	(A)
	I will not believe

	
	(B)
	I am not believing

	
	(C)
	I will not be believing

	
	(D)
	No improvement

	
	
	

	27.
	I cannot understand why she did that, it really does not add up

	(A)
	(A)
	does not calculate.

	
	(B)
	is not mathematics.

	
	(C)
	does not make sense.

	
	(D)
	makes the wrong addition.

	
	(E)
	none of  these.

	
	
	

	28.
	I do not think I should tell you over and over again that my family are early risers.

	(D)
	(A)
	my family members are early risers.

	
	(B)
	my family are an early riser.

	
	(C)
	my family is an early riser.

	
	(D)
	no correction required.

	
	
	

	29.
	I prefer to talk to people face to face rather than to talk on the phone.

	(C)
	(A)
	in person

	
	(B)
	watching them

	
	(C)
	facing them

	
	(D)
	looking at them

	
	(E)
	none of  them

	
	
	

	30.
	I would give my right arm if I could get tickets for that concert.

	(E)
	(A)
	do absolutely anything

	
	(B)
	do something stupid

	
	(C)
	do something dangerous

	
	(D)
	do nothing

	
	(E)
	none of  them

	
	
	

	31.
	I do not usually eat three meals a day, but I am used to it.

	(E)
	(A)
	I am using it.

	
	(B)
	I had use to it.

	
	(C)
	I am got it.

	
	(D)
	I used it.

	
	(E)
	I am getting used to it.

	
	
	

	32.
	If he was to decide to go to college, I, for lone would recommend that he plan to go to Yale

	(B)
	(A)
	If he was to decide to go to college

	
	(B)
	If he were to decide to go to college

	
	(C)
	Had he decided to go to college

	
	(D)
	In the event that he decides to go to college

	
	(E)
	Supposing he was to decide to go to college

	
	
	

	33.
	If I was in position then, I would have told the truth.

	(A)
	(A)
	When I was in the position then

	
	(B)
	If I am in position then

	
	(C)
	If I had been in your position then

	
	(D)
	When I had been in your position then

	
	(E)
	None of  these

	
	
	

	34.
	If we cooperate together by dividing up the work, we shall be able to finish it quickly.

	(B)
	(A)
	If we cooperate together by dividing up the work

	
	(B)
	If we cooperate by dividing up the work

	
	(C)
	If we cooperate together by dividing the work

	
	(D)
	If we cooperate by dividing up the work together

	
	(E)
	If we cooperate by dividing the work

	
	
	

	35.
	If you give me a hand, then I shall be able to finish more quickly.

	(E)
	(A)
	take my hand

	
	(B)
	take my fingers

	
	(C)
	pick me up

	
	(D)
	pull me up

	
	(E)
	help me

	
	
	

	36.
	If the parent would have shown more interest, the daughter would have been in college today.

	(B)
	(A)
	If the parent would have shown more interest

	
	(B)
	If the parent had shown more interest

	
	(C)
	If the parent would have showed more interest

	
	(D)
	should the parent have shown more interest

	
	(E)
	he parent would have been showing more interest

	
	
	

	37.
	If you are forbidden to do something, it mean you need not to do it.

	(B)
	(A)
	it means you are not do it.

	
	(B)
	it means you must not do it.

	
	(C)
	it means you could do it.

	
	(D)
	it means you have not go to do it.

	
	(E)
	none of  these.

	
	
	

	
	
	

	38.
	In addition to having more protein than wheat does, the protein in rice is higher quality than that in wheat, with more of the amino acids essential to the human diet.

	(B)
	(A)
	the protein in rice is of higher quality than that of

	
	(B)
	rice has protein of higher quality than that in

	
	(C)
	the protein in rice is higher in quality than it is in

	
	(D)
	rice protein is higher in quality than it is in

	
	(E)
	rice has a protein in higher in quality than 

	
	
	

	39.
	It was us who had left before he arrived 

	(B)
	(A)
	us who had left before he arrived.

	
	(B)
	we who had left before he arrived.

	
	(C)
	we who had went before he arrived.

	
	(D)
	us who had went before he arrived.

	
	(E)
	we who had left before the time he had arrived.

	
	
	

	40.
	Little that I knew of the English language, was not sufficient to make me a teacher of English.

	(B)
	(A)
	Very little

	
	(B)
	The little

	
	(C)
	A little

	
	(D)
	No improvement

	(B)
	(A)
	Very little

	
	
	

	41.
	Mr. Chowdhury used to think of hisself as the only Director of the company.

	(E)
	(A)
	used to think of hisself as the only Director of the company

	
	(B)
	used to thought of hisself as the only Director of the company

	
	(C)
	think of his self as the only Director of the company

	
	(D)
	used to have think of himself as the only Director of the company

	
	(E)
	used to think of himself as the only Director of the company

	
	
	

	42.
	Neither Mr. Rahman nor his friend are invited to speak at the seminar.

	(A)
	(A)
	is invited to speak at the seminar

	
	(B)
	are invited to speak at the seminar

	
	(C)
	are to speak at the seminar

	
	(D)
	are speaking at the seminar

	
	(E)
	will be speak at the seminar

	
	
	

	43.
	Of the two candidates for this position, Rubayat Islam is the most qualified because of his experience in this field.

	(D)
	(A)
	most qualified due to

	
	(B)
	more qualified as a result of

	
	(C)
	more qualified due to

	
	(D)
	more qualified because of

	
	(E)
	none of  these

	
	
	

	44.
	Older people often stay at home and watch TV because it is cold and dark in winter.

	(D)
	(A)
	seldom

	
	(B)
	sometimes

	
	(C)
	frequently

	
	(D)
	no improvement

	
	
	

	45.
	One of every five companies make initial public offering within three years.

	(A)
	(A)
	makes

	
	(B)
	make

	
	(C)
	should have to make

	
	(D)
	have to make

	
	(E)
	have made

	
	
	

	46.
	Of all the possible disasters that threaten our agriculture, the possibility of an adverse change in climate is may be the more difficult for analysis.

	(C)
	(A)
	is may be the more difficult to analysis.

	
	(B)
	is probably the most difficult to analysis.

	
	(C)
	is may be the most difficult for analysis.

	
	(D)
	is probably the more difficult to analysis.

	
	(E)
	is, it may be, the analysis that is most difficult.

	
	
	

	47.
	She never has and she never will do any work.

	(A)
	(A)
	She never has and she will do any work.

	
	(B)
	She never has done and she never will do any work.

	
	(C)
	She never has and will do any work.

	
	(D)
	Never has she and never would she do any work.

	
	(E)
	She never has and she never will do any work.

	
	
	

	48.
	She never stops talking about herself and is full of herself. 

	(D)
	(A)
	is very fat                                                 (AwZgvÎvq)

	
	(B)
	is too fat

	
	(C)
	is very full

	
	(D)
	is very conceited

	
	(E)
	none of  these

	
	
	[Note: conceited-AvZœMe©]

	
	
	

	49.
	She cut a sad figure in her first performance of the stage.

	(C)
	(A)
	made a story figure

	
	(B)
	cut a story face

	
	(C)
	cut a story figure

	
	(D)
	no improvement

	
	
	

	50.
	She not only was competent but also friendly.

	(D)
	(A)
	not only was competent but also friendly.

	
	(B)
	not was only competent but also friendly.

	
	(C)
	not only was competent but friendly also.

	
	(D)
	was not only competent but also friendly.

	
	(E)
	was not only competent but friendly also.

	
	
	

	51.
	Since we are living in Dhaka for five years, we are reluctant to move to another city.

	(D)
	(A)
	Since we are living

	
	(B)
	Being that we are living

	
	(C)
	Being that we have been living

	
	(D)
	Since we have been living

	
	(E)
	Since we are living

	
	
	

	52.
	Since 1986, there is no earthquake here.

	(A)
	(A)
	have been

	
	(B)
	are

	
	(C)
	were being

	
	(D)
	no improvement

	
	
	

	53.
	The accused now flatly denies have admitted his guilt in this first statement.

	(D)
	(A)
	having admitted

	
	(B)
	had admitted

	
	(C)
	have been admitting

	
	(D)
	has admitted

	
	(E)
	No correction required

	
	
	

	54.
	The busier you become, the less time you have for reading.

	(A)
	(A)
	the less time you have 

	
	(B)
	the lesser time you have 

	
	(C)
	the least time you have 

	
	(D)
	the lesser you have 

	
	(E)
	the less you have 

	
	
	

	55.
	The employees who believe that they may be affected by the new policy should contact the authority.

	(C)
	(A)
	will have been affected

	
	(B)
	may be affected

	
	(C)
	will be affected

	
	(D)
	will have been affected

	
	(E)
	none of  these

	
	
	

	56.
	The manager dismissed the new proposal out of hand and said that it was not at all practical.

	(E)
	(A)
	quickly

	
	(B)
	utter

	
	(C)
	directly

	
	(D)
	simply

	
	(E)
	none of  these

	
	
	

	57.
	The principal reason for our failure was quite apparent to those whom we had brought into the venture.

	(E)
	(A)
	to them who

	
	(B)
	to them whom

	
	(C)
	to the ones whom

	
	(D)
	to those who

	
	(E)
	none of  these

	
	
	

	58.
	The reason why he could not do the work was because he had to attend to his mother who was ill.

	(B)
	(A)
	why he could not do the work was since.

	
	(B)
	for which he could not do the work was because

	
	(C)
	why he could not do the work was that

	
	(D)
	no improvement

	
	
	

	59.
	The rising of costs of data processing operations at many financial institutions has created a growing opportunity for independent companies.

	(C)
	(A)
	The rising of costs 

	
	(B)
	Rising costs 

	
	(C)
	The rising cost 

	
	(D)
	Because the rising cost 

	
	(E)
	Because of rising costs 

	
	
	

	60.
	Today, this is a totally different world than we have seen it in the last decade.

	(B)
	(A)
	since we have seen

	
	(B)
	from what we have seen

	
	(C)
	from what we seen

	
	(D)
	than what we seen

	
	(E)
	none of  these

	
	
	

	61.
	Tomorrow the President is going open a new hospital.

	(C)
	(A)
	is going open a new hospital.

	
	(B)
	will going open a new hospital.

	
	(C)
	is going to open a new hospital.

	
	(D)
	will going to open a new hospital.

	
	(E)
	will go to open a new hospital.

	
	
	

	62.
	The psychologist William James believed that facial expressions not only provide a visible sign of an emotion, actually contributing to the feeling itself.

	(C)
	(A)
	emotion, actually also is contributing to the feeling itself

	
	(B)
	emotion but also actually contributing to the feeling itself

	
	(C)
	emotion but also actually contribute to the feeling itself

	
	(D)
	emotion; they also actually contribute to the feeling of it

	
	(E)
	emotion; the feeling itself is also actually contributed to by them

	
	
	

	63.
	Using it wisely, leisure promotes health, efficiency and happiness.

	(B)
	(A)
	Because of usefulness

	
	(B)
	If used wisely

	
	(C)
	Having used it wisely

	
	(D)
	Because it is used wisely

	
	(E)
	None of  these

	
	
	

	64.
	We demonstrated (cÖ`k©b Kiv) to them how we were prepared the artistic patterns.

	(D)
	(A)
	are prepared

	
	(B)
	have prepared

	
	(C)
	are preparing

	
	(D)
	had prepared

	
	(E)
	No correction required

	
	
	

	65.
	When one eats in this restaurant, you often find that the prices are high.

	(C)
	(A)
	When you eat in this restaurant, you often finds

	
	(B)
	When one eat in this restaurant, you often found

	
	(C)
	When you eat in this restaurant, you often find

	
	(D)
	If you ate in this restaurant, you often find 

	
	(E)
	When one ate in this restaurant, he often found

	
	
	

	66.
	Writing a beautiful sonnet is as much an achievement as to finish a 400-page novel.

	(B)
	(A)
	it is to finish

	
	(B)
	finishing

	
	(C)
	if to finish

	
	(D)
	to have finished

	
	(E)
	none of  these

	
	
	

	67.
	When the police arrived, the criminal have already escaped.

	(C)
	(A)
	the criminal has already

	
	(B)
	the criminal were already

	
	(C)
	the criminal had already

	
	(D)
	the criminal already

	
	(E)
	the criminal was already

	
	
	

	68.
	What are you doing? I work in a book shop.

	(A)
	(A)
	do you do

	
	(B)
	are you do

	
	(C)
	do you

	
	(D)
	are you doing

	
	(E)
	will you do

	
	
	

	69.
	What does agonise (hš¿Yv †`qv) me most is not this criticism, but the trivial (mvgvb¨) reason behind it.

	(E)
	(A)
	most agonising me

	
	(B)
	agonises me most

	
	(C)
	agonising me most

	
	(D)
	most agonised

	
	(E)
	No correction required

	
	
	

	70.
	When one reads the poetry of the seventeenth century, you find a striking contrast between the philosophy of the Cavalier poets such as Suckling and the attitude of the Metaphysical poets such as Donne.

	(C)
	(A)
	When one reads the poetry of the seventeenth century, you find

	
	(B)
	When you read the poetry of the seventeenth century, one finds

	
	(C)
	When one reads the poetry of the seventeenth century, he finds

	
	(D)
	If one reads the poetry of the 17th century, you find

	
	(E)
	As you read the poetry of the 17th century, one finds

	
	
	

	71.
	Your complaint is no different from the last customer who expected a refund.

	(B)
	(A)
	no different from 

	(E)
	(B)
	no different from that of

	
	(C)
	similar to

	
	(D)
	no different then that of 

	
	(E)
	the same as

	
	
	

	72.
	Your courage is as great as any other person in defending your country.

	(D)
	(A)
	as great as any other person

	
	(B)
	as great as any other persons

	
	(C)
	great like other person

	
	(D)
	as great as that of any other person

	
	(E)
	as that of any person
Thank you

	
	
	


